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Sclect correct option from the following questions. (50)

1 The product of three consecutive poasitve fnlesRers Is always divisible by

-----------

8 \B) 8 W1 9 (D) 10
M T = |
AR (Bl VS + 2 () vT =5 (D) V4 =2
13T Wpi=7) = Q. then a factor of pix) s oo
AYX-T By x+1 \CYx=-7 (D) x=-1
t+} What are the reros of pix) = 5 -x° 9
Al 5 and - 5 (B) + and 2 ) ,Fand~ |5 (D) 5 and-§
13! Two reras of X¥ + X - 5x -5 are § and - 3§ . then the third zero s ...........
{A) 2 l§1 -1 i 1 (D) -2
{8} "The sum of the zeros of pint = 3 + 3N = 218 e
R (Bl - 3 V10§ D) - 5

Seee-{TY T WG dight mumber, the digit at unuts place is (2x - 1) and the digit at
ten’s place is (2x + 1). then that number IS ...........

1A) 22x + Q (B) 19 +22x  (C) 22x-9 (D) 9x - 22
(8} i l=2and —-=6thenx=.....

(A 4 B+ (©) 2 ®
9] Hx+2}'=53nd1\+}'=7thfnx-y=. ..........

(Al -2 (B) 2 (C) 12 (D) -12
(10} The golden number ! ‘:; is one of the solutions of ...........

(A X=-x=0 ) lB]x‘+J§:\:-—l=0

(C)x¥-x-1=0 [D]X"'x"'\"j‘:o

{11) The solution set of the quadratic equation Xt - 30x + 221 = 01is cinine
(A) {-13.17} [B] 18, 17} (C) {-18.-17} (D) {13.-17}

(12) Discriminant D = ... for the quadratic equation 5x1-6x+1=0
(A) 16 (B) \36 (€1 4 (D) 56
(13) If - S is a root of a quadratc equatigp x® + 3 (K * 9) x -9 = 0, then
R=
D)-3
(A) 2 (B) -2 )3 (




(14) 1fSn=2n? + 3n, then d = ccooomeee

(A) 13 (B) 4 (C) 9 (D) -2
(15) ForagivenAP,a=2andd= 3. Then Sy = .......

(A) 300 (B) 600 (C) 1365 (D) 900
(16) For the AP. 4,8, 12,16 ...... Tso—Tso = ...........

(A) 10 (B) 20 (C) 30 (D) 40

(17) In BPQR, m @Q = 90 and QS is an altitude. If PS - SR = 10 and PQ? -
QR? = 260, then PR = .....cceue.

(A) /360 (B) V160 (C) 24 (D) 26
(18) In E™ ABCD, AB? + AD? = 200 and BD = 12, then AC = ...........
(A) 12 (B) 8 (C) 16 (D) 20
(18) In DABC, m DB = 90 and BD is and altitude. Then the correspondence
ADB « ..... ...... between DBDA and DBDC is a similarity.
y}-l BDC (B) CDB (C) BCD (D) CBD
(20) InDABC, if 4% = AL - rthenmBC = ...
(A) 90 [§] 30 (C) 60 (D) 45
(21) In DABC, m D A = 90 and ﬁlls an altitude. Then AD? = ...........
(A) AB? + BC? (B) BD? + DC" (S_] BD.DC (D) BD.BC

(22) The length of a median of an équﬂatera} triangle is v3. Length of the
side of the triangle is ...........

(A) 1 (B) 2,/3 (C) 2 (D) 3,/3
(23) y - axis divides the line segment joining A (- 3, - 4) and B (1. - 2) from-
A in ratio ...........
(A) 2:1 (B) 1:2 (C)3:1 (D)3:2
(24) A(4,7)and B (7, 3)thenAB= .. .
(A) 3 (B) 4 (C) 5 (D) 7
(25) If the vertices of DABC ar¢ A (Xi, y1). B (X, , y;) and C (X , ¥s) then the
centroid of DABC ls.++1h s At
Ay (B, Msi'"’) ® (B )
©) (x. (yfz- ys) _!iL"‘_fz._“_’:i)-)I (D) [HH;J*Y:F!“}*\)
(26) The are a of triangle having "_:i'CTUCES A(3,0),B10,3)and C (3. 3) = .....co.ee.
(A) 9 (B) 4.5 '. 1 (C) 6 (D) 3
(27) In DABC mbc= 90 and cosB = 7 then cgsecﬁ = rrernenen
nE ® V3 © 7 (D) 2
(28) 7 cos’q + 3 sin‘g = 4 th‘;“ o= .o, ‘ |
"E (Bl 7 (©) V3 (D) 7



(29])

(30)

(31)

(32)

(33)

(34)

(35)

(36)

(37)

(38)

(39)

The angle of elevation of the top of the pole from a point x m away from,
the pole is 60, then the height of the pole isl. .......... m. 7

(A) x (B) ﬁ.x (C) fx (D} 5 X
From the top of a building h meteres high. the angle of depression of
an object on the ground has measure - The distance (in meters) of the
object from the foot of the building IS -+«

(A) h sing (B) h tanq (C) h cotq (D) h cosq

A chord of © (0, 5) fouches © (0. 3). then the length of the chord
(A) 8 (B) 10 (C) 7 (D) 6

D B is right angle in DABC, then the radius of a circle touching all the
three sides of the triangle is ...........

(A) AB+BC+AC (B) AB+B2C_AC
2
(c) AC+ AB-BC (D) AC+BC-AB
2 2

PA is a tangent to ©(0, 5) drawn from a point P outside a circle. If m B
AOP = 40 thenm DOPA =, ._.....

(A) 20 (B) 50 ' (C) 90 (D) 45

A circle touches the sides A5 BC and CA of DABC at the points D, E, F
respectively. f AB= 13, BC=12and CA=5then AD = ...........

(A) 2 (B) 5 . ©3 D) 10

® (0, 41) and © (0, 9) are concentric circle. The chord AB of © (0, 41)
touches @ (0, 9), then AB = ........... :

(A) 20 (B) 40 - (C) 60 . (D) 8O

OA aud OB are the two mutually perpendicular radit of a circle having
radius 9 cm. The area of the minor sector corresponding to D AOB is

........... cm?. (p = 3.14)

(A) 63.575 ° (B} 63.585 - (C) 63.595 (D) 63.60

In a circle with radius 7 cm, the perimeter of a minor sector 1583—6 cm.
Then the area of that minor sector iS ...orre--- Cm?2.

(A) 154 (B) 77 (C) 38.5 ) 3%

If the radius of a circle i increased by 10 %. then corresponding increase
in the area of the circle ig

..........

(A) 19% (B) 109 (C) 21 % (D) 20 %

In © (0, r) OA and OF are two radil perpendicular to each other. If the

perimeter of the mingr sector formed by those radil is 20 Cm, then r =
........... Cm.

(A) 7 (B) 3.5 (C) 2.8 (D) 5.6
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Phe atea of a cltele t nunericatly donble than s elenm ferenee, Then
- «8 KL %

(%,
the taudins of the clvele I8 e - WS _
(A 4 w2 © (1) 'y
wy ™ 5
CRA of a hemisphere with dinnetet - U Cmis ..., we i,
tA) 20 p L] 200 p (€) 100 p (M) 40 p

The tatio radi of two evlinders 13324 and the vatio of thely heights s
41 5. Then the ratio of thetr volames 48 G,

A 3:5 (B3 0120 €Y 12: 5 M b2
The area of the base of & cone s 60 e and s helght 18 15 cm, Then the
wolume of the cone 18 o, '

1A} Q00 (B3) S00 (C) 450 (D) 160 _
The volume of a sphere s 4.5 p Cm®, Then its diameter is ..., i,
1Al 1.5 \B) 4.5 s D) 6
fx-2z=3uand Ntz A5 then M= .

[A) 24 1B) 22 IC) 26 (D) 23

The mean of 15 observations is 25. Later on, It was found that one

observation was taken my mistake as 20 tnstead of 50, ‘Then the correct
mean is

...........

(A) 20 - \B) 27 Ry (C) 28 (D) 30

For a given frequency distribution A= 200, Sf; = 45, ¥, y, = = 216 und
= 10. Then mean X = ..

(A) 224 (B) 152 IC) 176 (D) 191

There are 6 green, 5 red and 4 blue identical balls in a bag. One ball is

drawn at random from the bag. The probability that the ball drawn is not
red iS wvuveiniins

A
(A) ;_ (B) § (C) -:—é (D) -;—
The probability of a non-leap year having 53 Saturdays is ...........
I
A) 1 (B) + © L () 2

7
Two balanced dice are rolled simul taneously, Then the probabtlity that
the sum of the numbers on two dice is 5 prime number is ...........

5 I r 7
A) 73 (B) 7 T o 4



